PR W

ik
g
ik
djo

S§%5.2
(5.3 AENHER. AERKESR)

—. RIEmE

Lo NTEgT ST H— K, 485 B F SR AT 0, Yrid A mhi s

S, SKI1F XPR T Ae 2.

2. — 1 FAERITEREM —i P RGeS0 0 8, SR J1 F X325, 0 (15,
i BRI

L. )& A BCR A B R A

2. A E A E A

3. [ A B A WP i S T

4. [) 5 1) 1) e A R R i B R 2

5. AR )i a #E Wi b RS Prja?

L ges
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2. B A(1,1,0),B(1,0,0),€(0,1,0), 3k (1) 2ZBAC, (2)Prix AB.

3. Blal=4, [p]=3, (a1b) = T, kLla+2b fla - 3b KA PA AT

4 Wa=2i-j+k, B =i+j-k, KFANELT a, B KRR e.
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(1) a b ¢

sinA sinB  sinC

(2) ¢ =d® +b* - 2abcosC




